```
5
2.6 #16
              fx= = x (+(x,y, 2) = x(1-x-y-)===
              ty=39(+(x,y,z)= y(1-x-y-)-# (+1)
               + 2 = 2 (+(x,y,21) = 7
                   The tangent plane is

\[
\left(-1-y^2)^{-t} \forall (1-x^2-y^2)^{-t} \forall -\left(-1-\forall -\forall -\foral
                                                                    1. (x-x) + y. (y-y.) - (1-x0-y) = (2-20/=0
                                           : ( (xp, yd), f(x0, yd) = x{(x-x0) +y(y-y) +f(x0, yb)(2-20)
= x0(x-x0) + b(y-y) -(tx0-y-) t(2-20)
                                               is orthogonal to the yestor
                           -: f (x,y) = - (1-x-yy t
                                                       = 2 = - (1-12yy t
                                                                          2 = (-x-y-

1 2 = (-x-y-
                                                It mean tangent to a sphere is perpendicular to the vector joining there the
                                                                            point to origin
                                                         Make sense is OK.
                                                                  mertion sphere (FI)
```

\$ 20 Tf(x,y, +) = (+x, +y, +z) = (+x, +y, -2-4), = (x+4y-2-4), = (x+4y-2-4), = (x+4y-2-4), = (x, 84, 28) This vector is parallel to the plane 12x+1y+2= Which is L2t, 2t, t) 2. 2x=2+, 81=2+,-2==+ x=+ y=+x++2=-z+ f(x,y,2/= x-+47-2-4=0 1, t' + 4(4+) - (-t/) = 4 + = 4 + = 12 when t=2 (2, ±, -1) when t=-2 (-2, -±, 1)

#22  $\forall T = (-2x^{2} - 3x^{2})$   $(x, y, z) = e^{-x^{2} - 3x^{2}}$   $= (-2x^{2} - 2y^{2} - 3x^{2})$   $= (-2x^{2} - 2y^{2} - 3x^{2})$ - 7 T(1,1,1/= 2e-61 + 4e-6) the 6k (+1) (b) e8. 115(1,1,1)11 = e8. e-6( T(x+16+36) = 2e7/4 (6) ex ( 41(1)131) 5/19 ee 8x | -2xe-6; - 4ye-6; -6 & e-66 | 5 ty e ev(1444666) 5/14 ev 1 tytis & TI \xitjf8k, x\*tj~f2=1, 0\x+29ts & = \frac{\lambda\_{1}}{2}